BIDDER TO COMPLETE ITEMS BELOW

Item #	Quantity	Description	Part Number:	Unit Price	Extended Price
1	25	AXIS A8207-VE Mk II Network Video Door Station	02026-001	\$1,118.79	\$27,969.75
2	25	HID multiCLASS SE RP40	920PTNTEK00000	\$200.90	\$5,022.50
3	60	AXIS A1210 Powered by Genetec Network Door Controller	02368-001	\$321.15	\$19,269.00
4	2000	HID SEOS/iClass/Prox card	52060PSPGGANNN	\$8.25	\$16,500.00
5	60	Honeywell 950W or equivalent		\$19.99	\$1,199.40
6	10	AXIS D1110 Video Decoder 4K	02282-001	\$454.10	\$4,541.00
7	10	AXIS T8134 60 W Midspan	5900-334	\$111.25	\$1,112.50
4				Total Bid Price	\$75,614.15

TERMS, PROMPT PAY DISCOUNT ______ % 30 DAYS, NET 45 DAYS. DELIVERY AND/OR COMPLETION TO BE MADE WITHIN 21 DAYS FROM DATE OF NOTIFICATION BY THE CITY or WPS

AWARD TO BE MADE IN THE AGGREGATE. BIDDERS MUST BID ON ALL ITEMS.

NAME OF BIDDER MicroNet Associates, Inc.

BIDDER TO COMPLETE ITEMS BELOW

Item#	Quantity	Description	Part Number:	Unit Price	Extended Price
1	25	AXIS A8207-VE Mk II Network Video Door Station	02026-001	\$1,180.00	\$29,500.00
2	25	HID multiCLASS SE RP40	920PTNTEK00000	\$212.00	\$5,300.00
3	60	AXIS A1210 Powered by Genetec Network Door Controller	02368-001	\$340.00	\$20,400
4	2000	HID SEOS/iClass/Prox card	52060PSPGGANNN	\$8.85.00	\$17,700.00
5	60	Honeywell 950W or equivalent	950W-GY	\$20.40	\$1,224.00
6	10	AXIS D1110 Video Decoder 4K	02282-001	\$477.00	\$4,770.00
7	10	AXIS T8134 60 W Midspan	5900-334	\$118.00	\$1118.00
				Total Bid Price	\$80,012.00

TERMS, PROMPT PAY DISCOUNT % 30 DAYS, NET 45 DAYS.					
DELIVERY AND/OR C NOTIFICATION BY T	COMPLETION TO BE MADE WITHIN 21 DAYS FROM DATE OF HE CITY or WPS				
NAME OF BIDDER	Digital Surveillance Solutions (Tarian Group)				

BIDDER TO COMPLETE ITEMS BELOW

Item#	Quantity	Description	Part Number:	Unit Price	Extended Price
1	25	AXIS A8207-VE Mk II Network Video Door Station	02026-001	\$ 1,264.92	\$31,623.00
2	25	HID multiCLASS SE RP40	920PTNTEK00000	\$226.66	\$5,666.50
3	60	AXIS A1210 Powered by Genetec Network Door Controller	02368-001	\$ 363.11	\$ 21,786.60
4	2000	HID SEOS/iClass/Prox card	52060PSPGGANNN	\$9.13	\$ 18,260.00
5	60	Honeywell 950W or equivalent		\$22.34	\$1,340.40
6	10	AXIS D1110 Video Decoder 4K	02282-001	\$513.41	\$5,134.10
7	10	AXIS T8134 60 W Midspan	5900-334	\$125.78	\$1,257.80
				Total Bid Price	\$ 85,068.40

TERMS, PROMPT PAY DISCOUNT % 30 DAYS, NET 45 DAYS.
DELIVERY AND/OR COMPLETION TO BE MADE WITHIN 21 DAYS FROM DATE OF NOTIFICATION BY THE CITY or WPS
NAME OF BIDDER BCM CONTROLS CORPORATION
BID INClubes ADEEN DUM 1-3 (ATTACHED)

BIDDER TO COMPLETE ITEMS BELOW

Item #	Quantity	Description	Part Number:	Unit Price	Extended Price
1	25	AXIS A8207-VE Mk II Network Video Door Station	02026-001	\$1249.50	\$31,237.50
2	25	HID multiCLASS SE RP40	920PTNTEK00000	\$236.73	\$5,918.25
3	60	AXIS A1210 Powered by Genetec Network Door Controller	02368-001	\$360.84	\$ 21,650.40
4	2000	HID SEOS/iClass/Prox card	52060PSPGGANNN	\$ 9.59	\$19,180
5	60	Honeywell 950W or equivalent		\$27.86	\$1671.60
6	10	AXIS D1110 Video Decoder 4K	02282-001	\$ 542.18	\$5421.80
7	10	AXIS T8134 60 W Midspan	5900-334	\$164.39	\$ 1643.90
				Total Bid Price	\$86,723.45

AWARD TO BE MADE IN THE AGGREGATE. BIDDERS MUST BID ON ALL ITEMS.

TERMS, PROMPT PAY DISCOUNT 2 % 30 DAYS, NET 45 DAYS.

DELIVERY AND/OR COMPLETION TO BE MADE WITHIN 21 DAYS FROM DATE OF NOTIFICATION BY THE CITY OF WPS

NAME OF BIDDER GALMXY INTEGRATED TECHNOLOGIES

BIDDER TO COMPLETE ITEMS BELOW

Item #	Quantity	Description	Part Number:	Unit Price	Extended Price
1	25	AXIS A8207-VE Mk II Network Video Door Station	02026-001	1,533.16	38,329.00
2	25	HID multiCLASS SE RP40	920PTNTEK00000	249.41	6,235.25
3	60	AXIS A1210 Powered by Genetec Network Door Controller	02368-001	440.28	26,416.80
4	2000	HID SEOS/iClass/Prox card	52060PSPGGANNN	8.84	17,680.00
5	60	Honeywell 950W or equivalent		626.38	6,263.80
6	10	AXIS D1110 Video Decoder 4K	02282-001	152.45	1,524.50
7	10	AXIS T8134 60 W Midspan	5900-334	2.40	144.00
				Total Bid Price	96,593.35

TERMS, PROMPT PA	AY DISCOUNT _	N/A	_% 30 DAYS,	, NET	45 DAYS.	
DELIVERY AND/OR NOTIFICATION BY			E WITHIN_	21	_DAYS FROM DATE C	F
NAME OF BIDDER_	Insight Public S	Sector, Inc.				

BIDDER TO COMPLETE ITEMS BELOW

Item #	Quantity	Description	Part Number:	Unit Price	Extended Price
1	25	AXIS A8207-VE Mk II Network Video Door Station	02026-001	\$1,315.00	\$32,875.00
2	25	HID multiCLASS SE RP40	920PTNTEK00000	\$243.00	\$6,075.00
3	60	AXIS A1210 Powered by Genetec Network Door Controller	02368-001	\$559.00	\$33,540.00
4	2000	HID SEOS/iClass/Prox card	52060PSPGGANNN	\$9.83	\$19,660.00
5	60	Honeywell 950W or equivalent		\$21.50	\$1,290.00
6	10	AXIS D1110 Video Decoder 4K	02282-001	\$532.00	\$5,320.00
7	10	AXIS T8134 60 W Midspan	5900-334	\$130.00	\$1,300.00
	ca		X X	Total Bid Price	\$100,060.00

TERMS, PROMPT PAY DISCOUNT % 30 DAYS, NET 45 DAYS.
DELIVERY AND/OR COMPLETION TO BE MADE WITHIN 21 DAYS FROM DATE OF NOTIFICATION BY THE CITY or WPS
NAME OF BIDDER TJ Murphy - Project Account Manager

BIDDER TO COMPLETE ITEMS BELOW

Item #	Quantity	Description	Part Number:	Unit Price	Extended Price
1	25	AXIS A8207-VE Mk II Network Video Door Station	02026-001	\$1,964.75	\$49,118.75
2	25	HID multiCLASS SE RP40	920PTNTEK00000	\$253.25	\$6,331.25
3	60	AXIS A1210 Powered by Genetec Network Door Controller	02368-001	\$577.50	\$34,650.00
4	2000	HID SEOS/iClass/Prox card	52060PSPGGANNN	\$12.04	\$24,083.40
5	60	Honeywell 950W or equivalent		\$25.00	\$1,500.00
6	10	AXIS D1110 Video Decoder 4K	02282-001	\$837.00	\$8,370.00
7	10	AXIS T8134 60 W Midspan	5900-334	\$210.00	\$2,100.00
				Total Bid Price	\$126,153.40

TERMS, PROMPT PAY DISC	OUNT% 30 DAYS, NET 45 DAYS.
DELIVERY AND/OR COMPL NOTIFICATION BY THE CIT	ETION TO BE MADE WITHIN 21 DAYS FROM DATE OF
NAME OF BIDDER	Technology International, Inc.